

# **BID BULLETIN 01**

Date:	19 November 2021
Project Title:	Supply and Delivery of Agricultural/Farm Supplies (GOODS-21-58)
Location:	VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

#### I. LIST OF REQUIREMENTS

Legal Documents	
1	PhilGEPS Certificate of Registration (Platinum)
	or
	a. Registration Certificate (SEC, DTI or CDA)
	b. Mayor's/Business Permit
	c. Tax Clearance
Technical Documents	
2	Statement of All On-Going Government & Private Contracts
3	Statement of Bidder's Single Largest Completed Contract (at least 25% of the ABC or Php <b>197,875.00</b> )
	Or
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php 197,875.00 and the largest of which should be at least Php <b>98,937.50</b> .
4	Bid Security
5	Technical Specifications
6	SCHEDULE of Requirements/Production and delivery schedule
7	Manpower Requirements
8	After Sales service/parts from acceptance of delivered goods (at least 3 months for supplies)
9	Original Duly Signed Omnibus Sworn Statement
Financial Documents	
10	The Supplier's Audited Financial Statements
11	Net Financial Contracting Capacity (at least Php 791,500.00)
	Or
	Committed Line of Credit (at least Php 79,150.00)
(2 <sup>nd</sup> Envelope) FINANCI	AL COMPONENT ENVELOPE
12	Original of duly signed and accomplished Financial Bid Form
13	Original of duly signed and accomplished Price Schedule(s)



Please take note:

In the **Technical Specifications**, bidders must state either "Comply" or "Not Comply" <u>against</u> <u>each of the individual parameters of the specifications</u> per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the **Bidders Bid** and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (Data Sheets), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, postqualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of ITB Clause 3.1(a)(ii) and/or **GCC** Clause 2.1 (a)(ii).

#### II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)

- 1. Convert all documents into Portable Document Format (PDF) and should be printable.
- 2. Properly label all documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Desument Fileneme (in DDE form)					
	Document	Filename (in PDF form)				
1.	PhilGEPS Certificate of Registration	PhilGEPS				
	(Platinum)					
2.	Registration Certificate (SEC/DTI)	Registration Certificate				
3.	Mayor's/Business Permit	Mayor's-Business Permit				
4.	Tax Clearance	Tax Clearance				
5.	Statement of On-Going Government	Statement of On-Going				
	& Private Contracts	Contracts				
6.	Statement of Bidder's Single Largest	SLCC				
	Completed Contract					
7.	Statement of at least two (2) similar	Statement of Completed				
	completed contracts	Contracts				
8.	Bid Security	Bid Security				
9.	Technical Specifications	Technical Specifications				
10.	SCHEDULE of	Schedule of Requirements				
	Requirements/Production and					
	delivery schedule					
11.	Manpower Requirements	Manpower Requirements				
12.	After Sales service/parts	After Sales				
13.	Omnibus Sworn Statement	Omnibus Sworn Statement				
14.	Audited Financial Statements	Audited Financial Statements				
15.	Net Financial Contracting Capacity	NFCC				
16.	Committed Line of Credit	CLC				
17.	Bid Form	Bid Form				
18.	Price Schedule	Price Schedule				

3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.



The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at jessamine.ecleo@vsu.edu.ph before the deadline.

### **III.** Changes in the Bidding Documents

Original	Amendment
5. A complete set of Bidding Documents may be acquired by interested Bidders on 08 November – 29 November 2021 until 1:30 PM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of One Thousand Pesos (PhP 1,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.	<ul> <li>5. A complete set of Bidding Documents may be acquired by interested Bidders on 08 November – 29 November 2021 until 1:30 PM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of One Thousand Pesos (PhP 1,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.</li> <li>The Bidders may also deposit the applicable fee to Visayas State University Landbank Account:</li> <li>Account Name: Visayas State University Fund 164</li> <li>Account Number: <u>3572-1000-13</u></li> <li>And send the deposit slip to Ms. Jessamine C. Ecleo at jessamine.ecleo@vsu.edu.ph</li> </ul>



## IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (red) and/or deleted (blue)
- Some Quantities and Unit Prices (ABC) were changed

ltem No.	Description	QTY	Unit	ABC/Unit	Total ABC
1	Fertilizer, Complete, (14-14-14), 50 kg-bag	7	bag	1,400.00	9,800.00
2	Fertilizer, Complete, (14-14-14), 50 kg-bag	5	bag	1,400.00	7,000.00
3	Glyphosate base Herbicide, 1L/Bot	3	btl	1,000.00	3,000.00
4	Molasses, good quality	70	gallon	300.00	21,000.00
	*with no unnecessary/unpleasant odor				
	*pure molasses no water added				
5	Fertilizer, Urea (45-0-0), 50 kg-bag	5	bag	1,400.00	7,000.00
6	Fertilizer, Urea (45-0-0), 50 kg-bag	30	bag	1,400.00	42,000.00
7	Fertilizer, Muriate of Potash (0-0-60), 50 kg-bag	3	bag	1,600.00	4,800.00
8	Seeds, tomato	110	packs	70.00	7,700.00
	high germination rate and good quality tomato seeds				
9	Seedling tray, 128 holes per tray	100	pcs	60.00	6,000.00
10	Chili Pepper hybrid seeds	101	packs	200.00	20,200.00
11	Sweet pepper hybrid seeds	103	packs	200.00	20,600.00
12	Ampalaya Seeds	100	packs	70.00	7,000.00
	high germination rate, good quality, 12% MC				
13	Shovel, good quality	51	pcs	600.00	30,600.00
14	Hoe, good quality,	51	pcs	350.00	17,850.00
15	Watering Sprinkler Can, Plastic	40	pcs	600.00	24,000.00
	Good quality, Capacity: 6L; Color: Blue/Black				
16	Plastic Mulch, 3ft x 400m per roll	40	roll	3,000.00	120,000.00
	good quality				
17	Sweet corn seeds (Matcho) 4 kg, good quality	8	kgs	2,500.00	20,000.00
18	String Beans Seeds, good quality, at least 100 seeds per pack	100	pack	100.00	10,000.00
18	Seeds, Pechay, at least 12 grams per pack	115	packs	70.00	8,050.00
	*high and good quality pechay seeds, high germination rate				
19	Pipino Seeds, at least 50 grams per can	40	cans	1,200.00	48,000.00
	variety: 1/2 Jackson F1 1/2 Mega CF1				
20	Storage crate (jumbo) for vegetable harvest	45	рс	500.00	22,500.00
	24in x 16in x 12in Heavy Duty Made of 100% virgin materials High Density Polyethylene				
	<ul> <li>Durable &amp; Sturdy</li> <li>Stackable type</li> </ul>				
	✓ Foodgrade,no smell Outside dimension:				
	61.5cm L x 42.5cm W x 31.5cm H Inside				
21	dimension: 58cm L x 39.5cm W x 29.5cm H	1	noir	500.00	500.00
21	Rubber Chore Boots for Farmers, good quality	1	pair	500.00	500.00
22	Shovel/Spade, good quality	1	рс	500.00	500.00



23	Haras/bolo with end curve, wood handle and	24	nicoc	400.00	0 600 00
23	case, at least 16 inches blade	24	piece	400.00	9,600.00
24	Pots, Plastic, big, at least 14 inches diameter	10	pcs	80.00	800.00
25	Molasses, 5 Gallon/drum	5	drum	700.00	3,500.00
26	Sacks, 50 kg capacity, nylon	60	piece	25.00	1,500.00
27	Rice Bran D1, <mark>50 kg. per bag</mark>	32	bags	700.00	22,400.00
28	Sprayer, Knapsack	2	piece	2,800.00	5,600.00
	*5 gal.cap, Stainless steel				
29	Pruning shear, Heavy duty	8	pcs	500.00	4,000.00
30	Chopping Board (Plastic)	5	pcs	100.00	500.00
	*made of Plastic 22 cm x 34 cm				
31	Carpentry Household hand tool site with plastic toolbox storage case	1	pcs	900.00	900.00
	16 Pcs Handy Tools Set Professional Hardware				
	Utility knife-150mm-1pc				
	Digital Electric Tester-125mm-1pc				
	PVC insulation tape-18mm x 5m-1pc				
	Screwdrivers()-6x38mm-2pcs				
	Screwdrivers()-6x100mm-2pcs				
	Tape measure-2m-1pc				
	Combination Pliers-7 inch-1pc				
	Adjustable Wrench-8 inc-1pc				
	Claw Hammer(8 oz)-235mm-1pc				
	Hex Key-2~6mm-5pcs				
	*good quality				
	Digging Bar, steel (5 1/2 feetx5"blade, heavy				
32	duty)	4	pcs	1,500.00	6,000.00
	*good quality				
	Feed Cart, or Wheelbarrow functional and good				
33	quality- large galvanized solid wheel, can load at	1	pcs	2,500.00	2,500.00
34	least 150kg Holer, shuv holer 4" diameter, good quality	9	<b>D</b> 00	350.00	3,150.00
35	Seedling Tray 104 round holes (Black)	10	pcs piece	250.00	2,500.00
36	Polyethylene bags, 4 x 6", black	30	kilos	200.00	6,000.00
30	Polyethylene bags, size: 10 x 10	100	piece	9.00	900.00
38	Wound Spray	75	tube	280.00	21,000.00
50	Dichlofenthion wound spray	75	lube	200.00	21,000.00
	Broad spectrum antiseptic				
	Larvicidal				
	Fly repellant				
	Astringent				
	Colorant marker				
	at least 86 grams/tube				
39	Vitamins Supplement, (ADE Injectable) 100ml	70	btl	800.00	56,000.00
00	*For animal health services	10		000.00	00,000.00
40	Feeds, Dairy Buffalo Concentrate, 50kls	100	bags	1,600.00	160,000.00
υF	- Crude Protein at least 15%	100	Dago	1,000.00	100,000.00
	- Moisture not more than 13%				
				I	



	- Calcium at least 1.2%				
	- Phosphorus at least 0.6%				
	- Crude fat 7-10%				
41	Rainboots, Steel Toe, Size: 10	15	pairs	800.00	12,000.00
	Steel Toe Rubber Boots in Black				
42	DCM Injectable (Dextrose, Calcium, Magnesium), 100 mL	15	btls	270.00	4,050.00
43	Povidone-lodine 10% Solution, good quality	5	gallon	1,500.00	7,500.00
44	Shovel, Square Point	3	рс	1,000.00	3,000.00
45- delet e	27" SQUARE POINT SHOVEL				
	Blade: Black steel				
	9-1/2" W x 11-1/2" L. #2 square point hollow back with a rolled step.				
	Heat-treated and tempered to resist wear and breakage.				
	Handle: Heavy-duty fiberglass for safety and durability. Bright yellow.				
	Plastic "D" grip handle for comfort				
			TOTAL:		791,500.00

Sgd. DILBERTO O. FERRAREN BAC Chairman